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3 3% F1E 2019%11H24H
1 RUERA VS 2 #EFRA
H= A=
RUE A A RUE
it . & L~ =1 it . EEH X . EFFn
—p— 7 EER ppm— 7 AR
x| | R | m | R | mee| e | 2 |er axe| 20| T
21 | it 1t 4D -2 -200 1t 3D -1 -100 3
22 | ;RFg 1t 3NT +1 430 1t 3NT +1 430
23 | XWH [ri] 6D = -1370 [ri] 6D +1 [ -1390 1
24 | WFs [ri] INT = -90 [rif] INT = -90
25 | ;RAg x 3S +2 -200 ® 2S +2 -170 1
26 | W&/ x 4H = -620 [ri] 4H +1 -650 1
27 | WFs [£3] 3NT +3 490 [£7] 3NT +3 490
28 | it [ri] 4S = -420 [ri] 5Sx -1 100 11
29 | W&/ [ri] 3C = -110 [£3] 4D = 130 6
30 | XF 1t INT +1 120 1t INT = 90 1
DATUMSit T
RUELPA EFAPA Y. X+ 3 21
LZEH/ 25k O EETR/E R O ait 3 21
ZEEMT/RNR = O FER/BER @) V.P. 4.48 | 15.52
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% 3% %25 2019411 H24H
3UvEE VS 4 RGPA
H= A=
INKRE TSI\ T INKRE
1t : FrBEHH X EFE it : BEER X .HEB
By . IR i Toas & XUz 7 : falxhE
x| | R | m | R | mee| e | 2 |er axe| 20| T
21 @l 46 | ap | -1 | 100 | 46 | sox | = | 670 13
22 | ;RFg 1t 3NT +1 430 1t 3NT +1 430
23 | XWH x 3NT +1 -630 [ri] 6NT -1 100 12
24 | WFs [ri] INT = -90 [rif] 3D -1 50 4
25 | ;RAg x 4S +1 -650 ® 3S +2 -200 10
26 | W&/ x 4H = -620 7 4H +1 -650 1
27 | WFs [£3] 3NT +3 490 [£7] 3NT +3 490
28 | @it [ri] 6SX -2 300 [ri] 58S = -450 13
29 | W&/ [ri] 4C = -130 1t 3D +1 130 6
30 | XF x INT -1 50 [£3] 2S +1 140 3
DATUM% it iFEE
INEKIE iRGPA r. 5] 14 | 48
Frbeit/Z IR @) AR R/ XUBZ O Aait 14 | 48
B e/ {axhE O EZE/ T =& (@) V.P. 1.56 | 18.44




